
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
CLASS : X

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. The Indian National Army (INA) formed by Sohan Singh came into existence in :
ãaçc÷X ×ae» ¥ç»ç G×PöTö \öç»Tö» LçTöÝÌ̂  åaXç (INA) Eõ'Tö %ç»Þö éc÷×$K÷_ ?
åaçc÷X ×ae ¥çÌ[ýç G×PöTö \öçÌ[ýTöÝÌ̂  LçTöÝÌ̂  åaXç (INA) åEõçUçÌ̂  GPöX EõÌ[ýç c÷Ì̂  ?
(a) Burma (Myanmar)      (b)   Japan (c) Malaysia (d) Singapore

[ýç]ïç (]îçX]ç»/]îçX]çÌ[ý )       LçYçX ]ç_ãÌ̂ ×$K÷Ì̂ ç / ]ç_ãÌ̂ ×`Ì̂ ç ×$Jô†çYÇ» / ×a†çYÇÌ[ý

2. Which of the following Indian states does not lie on the Indo-Bangla border ?
Tö_» åEõçX »çLî \öç»Tö [ýçe_çãV` aÝ]çÜ™öTöø %¾×ØšöTö Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX Ì[ýçLî \öçÌ[ýTö [ýçe_çãV` aÝ]çãÜ™ö %[ý×ØšöTö XÌ̂  ?
(a) Assam (b) Mizoram (c) Tripura (d) Manipur

%a] / %çaç] ×]ãLç»ç] / ×]ãLçÌ[ýç] ×ÅyYÇ»ç / ×ÅyYÇÌ[ýç ]×SYÇ» / ]×SYÇÌ[ý

3. Which of the following National Highways is the longest ?
Tö_» åEõçXä$Oôç »çrÑôÝÌ̂  Hç+YU %ç$Oôç+TöêEõ VÝH_ ?
XÝä»JôÌ[ý åEõçX LçTöÝÌ̂  Ì[ýçrÑôÝÌ̂  Ì[ýçLYU a[ý»Jôç+ãTö VÝHï ?
(a) Agra-Mumbai (b) Chennai-Thane (c) Kolkata - Hajira (d) Pune - Machilipatnam

%çGÐç--]Ç¶‘öç+ æ$Jô~ç+-UçãX Eõ_EõçTöç-c÷ç×L»ç/c÷ç×LÌ[ýç    YÇãS-]$K÷×_Y$OôX]/]$a×_Y$OôX]

4. The President appoints all the following except ..............
»çrÑôY×TöãÌ̂  ×X¶oö×_×FTö .................... » [ýç×c÷ã» %ç$Oôç+ãEõ ×X Ç̂×Nþ ×VãÌ̂ *
.............. »K÷çQÍöç [ýçEõÝ a[ýç+ãEõ Ì[ýçrÑôY×Tö ×X Ç̂Nþ åVX*
(a) The Prime Minister (b) The Governor

YÒWýçX]Ü—öÝ »çLîYç_ / Ì[ýçLîYç_
(c) The High Court Judges (d) The Chairman of Rajya Sabha

=¬Jô XîçÌ̂ ç_Ì̂ » ×[ý$Jôç»Y×Tö »çLîa\öç» a\öçY×Tö
=¬Jô XîçÌ̂ ç_ãÌ̂ Ì[ý ×[ý»JôçÌ[ýY×Tö Ì[ýçLîa\öçÌ[ý a\öçY×Tö

5. Buyer's market denotes the place where ...............
åyÔTöç» [ýLç» c÷'_, ̂ 'Tö .........................
åyÔTöçÌ[ý [ýçLçÌ[ý c÷_ å^FçãX ...................
(a) The supply exceeds the demand (b) the demand exceeds the supply

$Jôç×c÷VçTöêEõ å^çGçX %×WýEõ å^çGçXTöêEõ $Jôç×c÷Vç %×WýEõ
»Jôç×c÷Vç åUãEõ å^çGçX å[ý`Ý å^çGçX ãUãEõ »Jôç×c÷Vç å[ý`Ý

(c) demand and supply are well-balanced (d) commodities are available at cheaper price
$Jôç×c÷Vç %ç»Ó å^çGçX a³wø×_Tö aç]GÐÝa]Éc÷ Eõ] Vç]ãTö åYç¾ç ^çÌ̂
»Jôç×c÷Vç A[ýe å^çGçX aÜ™ö×_Tö aç]GÐÝa]Éc÷ Eõ] Vçã] YçCÌ̂ ç ^çÌ̂

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(2)

6. What is called a 'banker's cheque ?
å[ýeEõç» æ$JôEõ ×Eõ ?
......................... åEõ å[ýeEõçÌ[ý æ»JôEõ [ý_ç c÷Ì̂ *
(a) Demand Draft (b) Debit Card (c) Pay Order (d) Fixed Deposit

×Qö]ç‰ø QÎöçZËõ$Oô åQö×[ý$Oô EõçQïö åY-%Qïöç» / åY-%QïöçÌ[ý ]îçVÝ L]ç
×Qö]ç³Qö QÎöçZËõ»Oô

7. Consider the following :
Tö_» [ýçEõîã[ýç» ]X Eõ»ç ---
XÝä»JôÌ[ý [ýçEõîm×_ _lùî EõÌ[ý ---
(I) Disputes with mobile cellular companies

å]ç[ýç+_ åEõç¶YçXÝ» _GTö ×[ý[ýçV / å]ç[ýç+_ åEõç¶YçXÝÌ[ý açãU ×[ý[ýçV
(II) Motor accident cases

^çX-[ýçc÷X VÇHï$OôXç å]çEõ©]ç
(III) Pension case

åY³aX å]çEõ©]ç
For which of the above are Lok Adalats held ?
CY»» =ä{×FTö ×Eõc÷» [ýçã[ý å_çEõ %çVç_Tö [ýãc÷ ?
=YãÌ[ýÌ[ý =ä{×FTö åEõçX ×[ýbÌ̂  å_çEõ %çVç_ãTöÌ[ý %WýÝãX %çãa ?
(a) (I) only (b) (I) & (II) (c) (II) only (d) (II) & (III)

åEõ¾_ (I) (I) %ç»Ó (II) åEõ¾_ (II) (II) %ç»Ó (III)
£WýÇ (I) (I) A[ýe (II) £WýÇ (II) (II) A[ýe (III)

8. Match the following / ×X¶oö×_×FTö List - I %ç»Ó List - I a×PöEõ\öçã[ý ×]_ç+ ×VÌ̂ ç / a×PöEõ\öçã[ý ×]_çC ----
List - I List - II

A. Bhajan Sapori i. Bharatnatyam dancer
\öLX $K÷çãYç»Ý \öç»TöXç$Oôî] XÊTöî×`”Ý
\öLX açãYçÌ[ýÝ \öçÌ[ýTöXç»Oôî] XÊTöî×`”Ý

B. Birju Maharaj ii. Santoor Maestro
×[ý»LÇ ]c÷ç»çL $JôÜ™Çö» =Ø™öçV
×[ýÌ[ýLÇ ]c÷çÌ[ýçL aÜ™ÇöÌ[ý =Ø™öçV

C. Priyadarshini Govind iii. Mridangam Maestro
×YÒÌ̂ V×`ïXÝ åGç×[ý³V ]ÊVeG =Ø™öçV
×YÒÌ̂ V×`ïXÝ åGç×[ý³V ]ÊV† =Ø™öçV

D. T.V. Gopalkrishnan iv. Kathak dancer
×$Oô ×\ö åGçYç_EÊõbÕX EõUEõ XÊTöî×`”Ý
×»Oô×\ö åGçYç_EÊõbÕX EõUEõ XÊTöî×`”Ý

A   B   C   D A   B   C   D A   B   C   D A   B   C   D
(a) ii    i    iv   iii (b) iii   i    iv    ii (c) ii    iv   i   iii (d) iii   iv   i    ii
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9. The full form of HUDCO is ......................
HUDCO » a¶YÇSï »ÖY ×Eõ ?
HUDCO AÌ[ý a¶YÉXï Ì[ýÖY ...................................*
(a) Housing Urban Developing Committee (b) Housing Units Developing Corporation
(c) Housing Urban Development Corporation (d) Housing units Development commission

10. Complete the series with the correct answer.
YÒ̀ Âã[ýçWýEõ Pöç+Tö a×PöEõ =wø» ×V `ÊeF_çä$Oôç a¶YÇSï Eõ»ç*
YÒ̀ Âã[ýçWýEõ ØšöçãX a×PöEõ =wøÌ[ý [ýaçC*

?

       (a)       (b) (c)      (d)

11. The 99th Indian Science Congress in January 2012 was held in ..............
2012 JôX» LçXÇ¾ç»ÝTö 99 Tö] \öç»TöÝÌ̂  LçTöÝÌ̂  ×[ýpûçX EõeäGÐ$K÷» %×Wýã[ý`X Eõ'Tö %XÇ×œöTö éc÷×$K÷_ ?
99 Tö] \öçÌ[ýTöÝÌ̂  ×[ýpûçX EõeäGÐa 2012 aãXÌ[ý LçXÇÌ̂ çÌ[ýÝãTö ãEõçUçÌ̂  %XÇ×œöTö c÷Ì̂  ?
(a) Maharashtra (b) Karnatak (c) Tamilnadu (d) Odisha

]c÷ç»çrÑô / ]c÷çÌ[ýçrÑô EõSïç$OôEõ Töç×]_XçQÇö C×Qöaç

12. The 'La Nina' factor brings changes in -
""_ç ×XXç'' Eõç»ãEõ ×Eõc÷Tö YÒ\öç¾ åY_çÌ̂  ?
"_ç ×XXç' ..................... AÌ[ý =YÌ[ý YÒ\öç[ý åZõ_çÌ̂ *
(a) Water level of the sea (b) Weather condition

açG»ÝÌ̂  L_YÊœö» CY»Tö [ýTö»» CY»Tö
a]ÇäVÐÌ[ý L_YÊœö %ç[ýc÷çCÌ̂ ç

(c) Global warming (d) Glaciers
åGç_EõÝÌ̂  =bÕTöç ×c÷][ýçc÷

13. The film 'Rockstar' is directed by ...................
"»Eõrôç»' å[ýç_$»K÷×[ýFX åEõçãX ×XãVÛ̀ Xç Eõ×»×$K÷_ ?
"Ì[ýEõrôçÌ[ý' »K÷çÌ̂ ç»K÷×[ýÌ[ý ×XãVÛ̀ Eõ .........................*
(a) Imtiaz Ali (b) Farhan Akhtar (c) Gulzar (d) Vishal Bhardwaj

+]×TöÌ̂ çL %ç×_ Zõç»c÷çX %çFTöç» m_Lç» ×[ý`ç_ \ö»¥çL
ZõçÌ[ýc÷çX %çFTöçÌ[ý m_LçÌ[ý ×[ý`ç_ \öÌ[ý¥çL
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14. VAT is alternative of ..................
'VAT' ×Eõ Eõ»» ×[ýEõ” ?
'VAT' ................. EõãÌ[ýÌ[ý ×[ýEõ”*
(a) State Tax (b) Central Tax

»ç×LîEõ Eõ» / Ì[ýç×LîEõ EõÌ[ý åEõ³VÐÝÌ̂  Eõ» / åEõ³VÐÝÌ̂  EõÌ[ý
(c) Tax on expenditure (d) Income Tax

[ýîÌ̂  Eõ» / [ýîÌ̂  EõÌ[ý %çÌ̂ Eõ» / %çÌ̂ Eõ Ì[ý

15. Which of the following problems is not created by noise pollution ?
Tö_Tö =ä{F Eõ»ç åEõçX×[ýWý %aÇF `Œ YÒVÉbS» ¥ç»ç aÊ×rô Xc÷Ì̂  ?
...................... ̀ Œ YÒVÉbS ¥ç»Ì[ýç aÊœö åÌ[ý»çG XÌ̂ *
(a) Diarrhoea (b) Hypertension (c) Deafness (d) Irritation

QöçÌ̂ ×»Ì̂ ç =¬Jô»NþJôçY [ý×Wý»Töç ×[ý»×Nþ\öç[ý
QöçãÌ^×Ì[ýÌ^ç =¬JôÌ[ýNþ»JôçY [ý×WýÌ[ýTöç ×[ýÌ[ý×Nþ\öç[ý

16. Unani medicine was introduced in India by ...............
\öç»TöTö +=XçXÝ ×Jô×Eõdaç Yˆù×Tö» DbWý åEõçãX %ç»Þö Eõ×»×$K÷_ ?
\öçÌ[ýãTö +=XçXÝ ×»Jô×Eõdaç Yˆù×TöÌ[ý DbWý åEõ %çÌ[ýÞö EõãÌ[ýX ?
(a) The Arabs (b) The Greaks (c) The Turks (d) None of these

%ç»[ýÝaEõã_ GÐÝEõaEõã_ TÇöEõÞaEõã_ AOôçC Xc÷Ì̂
%çÌ[ý[ýÝÌ̂ Ì[ýç GÐÝEõÌ[ýç TÇöEõÞÌ[ýç AEõ×»OôC XÌ̂

17. ?
Which of the following will come at the place of the question mark ?
Tö_» åEõçXä$Oôç (×$Jôy) YÒ̀ Âã[ýçWýEõ ×$JôX» Pöç+Tö [ý×c÷[ý ?
YÒ̀ Âã[ýçWýEõ ×»Jôäc÷ÔÌ[ý ØšöçãX ×Xä¶oöÌ[ý ×»Jôy åUãEõ a×PöEõ =wøÌ[ý [ýaçC*

   (a)         (b)         (c) (d)

18. The Himalayas is a ................
×c÷]ç_Ì̂  A×[ýWý .............................
×c÷]ç_Ì̂  AEõ×»Oô ...........................
(a) Fold Mountain (b) Block Mountain (c) Residual Mountain    (d) Volcanic Mountain

\öçL×[ý×`rô Y[ýïTö aÝ×]Tö Y[ýïTö    %¾ã`bY[ýïTö / %[ýã`bY[ýïTö   %çäGÂÌ̂ Y[ýïTö
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19. The largest Union Territory of India is ......................
\öç»Tö» %ç$Oôç+TöêEõ QöçIø» åEõ³VÐÝÌ̂ `ç×aTö %‡û_ .............................................
\öçÌ[ýãTöÌ[ý a[ý»Jôç+ãTö [ýÊc÷d åEõ³VÐÝÌ̂  `ç×aTö %‡û_ ....................*
(a) Chandigarh (b) Puducherry

Jô×‰øGQÍö YÇQÇöäJô»Ý / YÇQÇöä»JôÌ[ýÝ
(c) Andaman & Nicobar (d) Lakshadweep

%ç³Vç]çX %ç»Ó ×XãEõç[ý» ¥ÝYYÇt _çlùç¥ÝY
%ç³Vç]çX C ×XãEõç[ýÌ[ý ¥ÝYYÇt

20. The first lady of the Indian screen to have been nominated to the Rajya Sabha is -
»çLîa\öçê_ ]ãXçXÝTö åc÷ç¾ç YÒU] \öç»TöÝÌ̂  »ÖYç_Ý YVÛç» ]×c÷_ç ---
Ì[ýçLîa\öçÌ̂  ]ãXçXÝTö c÷CÌ̂ ç \öçÌ[ýTöÝÌ̂  »Jô_×¬JôäyÌ[ý YÒU] ]×c÷_ç .....................*
(a) Nargis (b) Madhubala (c) Hema Malini (d) Shabana Azmi

Xç×GïK÷ / Xç×Gïa ]WýÇ[ýç_ç åc÷]ç ]ç×_XÝ `ç[ýçXç %çL]Ý

21. The blue colour of sky is due to ........................
%çEõç`» »e XÝ_ç åc÷ç¾ç» Eõç»S ........................*
%çEõçã`Ì[ý Ì[ýe XÝ_ c÷CÌ̂ çÌ[ý EõçÌ[ýX ....................*
(a) Reflection of sunlight (b) Refraction of sunlight

aÉ̂ ïî» åYçc÷»» YÒ×TöZõ_X / aÉ̂ ïçã_çãEõÌ[ YÒ×TöZõ_X aÉ̂ ïî» åYçc÷»» YÒ×Töa»S» [ýçã[ý / aÉ̂ ïçã_çãEõÌ[ý YÒ×TöaÌ[ýS
(c) Scattering of shorter wave lengths of sunlight in the atmosphere

[ýçÌ̂ Ç]‰ø_Tö JÇô×$Oô Tö»† éVHïî UEõç aÉ̂ ïî» »×`½ã[ýç» ×a$Jô×»Tö éc÷ UEõç» [ýçã[ý
[ýçÌ̂ Ç]‰øã_ æ»K÷ç»Oô TöÌ[ý† éVHïî UçEõç aÉã ï̂îÌ[ý Ì[ý×`½m×_ ×[ý¬KÇ÷×Ì[ýTö c÷ãÌ̂  UçEõçÌ[ý LXî

(d) Scattering of longer wave lengths of sunlight in the atnoshere
[ýçÌ̂ Ç]‰ø_Tö VÝHïTö»† ×[ý×`rô aÉ̂ ïî»×`½ã[ýç» ×a$Jô×»Tö éc÷ UEõç» [ýçã[ý
[ýçÌ̂ Ç]‰øã_ VÝHïTöÌ[ý† ×[ý×`rô aÉ̂ ïîÌ[ý×`½m×_ ×[ý¬KÇ÷×Ì[ýTö c÷ãÌ̂  UçEõçÌ[ý LXî

22. Which one of the following is not a nuclear state ?
Tö_» åEõçXFX Yç»]çS×¾Eõ åV` Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×»Oô YçÌ[ý]çS×[ýEõ Ì[ýçrÑô XÌ̂  ?
(a) United kingdom (b) France (c) German (d) China

[ýÊ×$Oô$K÷ Ç̂Nþ»çrÑô ZÐõç‡û / ZÐõç³a Lç]ïçXÝ $JôÝX
[ýÊ×$Oô$̀  Ç̂NþÌ[ýçrÑô

23. The 'Best State' National Tourism Award for 2009-10 conferred by the Ministry of Tourism
Government of India was won by .......................
2009-10 Tö \öç»Tö $Jô»Eõç»» Y ï̂î$OôX ]Ü—öç_ãÌ̂  YÒVçX Eõ»ç æ`Òrô »çLî» »çrÑôÝÌ̂  Y ï̂î$OôX YÇ»•õç»» ×FTöçY _ç\ö Eõã» ..................*
\öçÌ[ýTö aÌ[ýEõçãÌ[ýÌ[ý Y ï̂î»OôX ]Ü—öç_ãÌ̂  YÒVçX EõÌ[ýç 2009-10 AÌ[ý æ`Òœö Ì[ýçLî Ì[ýçrÑôÝÌ̂  Y ï̂»OôX YÇÌ[ý•õçÌ[ý _ç\ö EõãÌ[ý...............*
(a) Jammu & Kashmir (b) Madhya Pradesh (c) Gujarat (d) Kerala

L¶ö‚Ç %ç»Ó Eõç`½Ý» ]Wýî YÒãV` mL»ç$Oô / mLÌ[ýç»Oô åEõ»ç_ç / åEõÌ[ýç_ç
L¶ö‚Ç A[ýe Eõç`½ÝÌ[ý
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24. The Treaty of Srirangapatnam was signed between Tipu Sultan and...............
`ÒÝ»†YvôX] $JÇô×Nþ ×$OôYÇ $JÇô_TöçX %ç»Ó Eõç» ]çLTö a¶Yç×VTö éc÷×$K÷_ --
`ÒÝÌ[ý†Y®ÏôX] »JÇô×Nþ ×»OôYÇ aÇ_TöçX A[ýe ................... AÌ[ý ]ãWýî a¶Yç×VTö c÷Ì̂ *
(a) Clive (b) Dalhousie (c) Cornwallis (d) Wellesley

zõç+\ö åQö_c÷ç=$JôÝ EõSï¾ç×_$Jô å¾ã_$Jô_Ý
Qöç_c÷ç=×a EõSïCÌ̂ ç×_a CãÌ^ã_a×_

25. If we travel in an ASTC city Bus of Guwahati we see  scribbled there. What is the
full form of  ?
m¾çc÷ç$OôÝTö %a] »ç×LîEõ Y×»[ýc÷X ×XG]» [ýç$K÷Tö =×Pöã_ %ç×]  ×_Fç åVFç YçCg*  » YÉSï »ÖY ×Eõ ?
mÌ̂ çc÷ç »OôÝåTö %çaç] Ì[ýç×LîEõ Y×Ì[ý[ýc÷X ×XGã]Ì[ý [ýçäa »JôQÍöã_ %ç]Ì[ýç  å_Fç åVFãTö Yç+*  AÌ[ý
YÉSï Ì[ýÖY ×Eõ ?
(a) Jawaharlal Nehru National Universal Rural Mission.

L¾çc÷»_ç_ åXc÷»Ó åX$JôãX_ +=×X\öç»ä$K÷_ »Óã»_ ×]$JôX
LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ åX`ãX_ +=×X\öçÌ[ýãa_ Ì[ýÓãÌ[ý_ ×]`X

(b) Jawaharlal Nehru National Urban Renewal Mission
L¾çc÷»_ç_ åXc÷»Ó åX$JôãX_ %ç»[ýçX ×»ãXçã¾_ ×]$JôX
LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ åX`ãX_ %çÌ[ý[ýçX ×Ì[ýãXçãÌ̂ _ ×]`X

(c) Jawaharlal Nehru National Urban Rural Mission
L¾çc÷»_ç_ åXc÷»Ó åX$JôãX_ %ç»[ýçX »Óã»_ ×]$JôX
LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ åX`ãX_ %çÌ[ý[ýçX Ì[ýÓãÌ[ý_ ×]`X

(d) Jawaharlal Nehru National University Registration Mission
L¾çc÷»_ç_ åXc÷»Ó åX$JôãX_ +=×X\öç»×$K÷×$Oô å»×LärÑô$JôX ×]$JôX
LCc÷Ì[ý_ç_ åXc÷Ì[ýÓ åX`ãX_ +=×X\öçÌ[ý×a×»Oô åÌ[ý×LärÑô`X ×]`X

General English

26. I work at my …………………………… store every evening.
(a) mom and dads' (b) mom's and dad's (c) mom and dad's (d) moms and dad's

27. It's time I  ………………………… home.
(a) went (b) have gone (c) will go (d) go

28. ………………………………………………….  fast.
(a) News travels (b) News travel (c) A news travels (d) The news travel

29. She  …………………………… in the morning because she gets up late.
(a) always has to hurry (b) has always to hurry (c) has to always hurry (d) has to hurry always
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30. The singular form of the word "species" is ……………………
(a) spec (b) specy (c) species (d) genus

31. This is the  very  book I want because the book is  very  interesting.
                               1                                                            2

In this sentence the first use of very is  ……………… and the second use of very is ………………
(a) Adjective and adverb (b) adverb and adjective
(c) Noun and adjective (d) noun and adverb

32. Which words correctly completes this sentence ?
" You won't find ……………………. if you don't look ………………………….."
(a) Anything, anywhere (b) nothing, anywhere (c) Anything, nowhere (d) nothing, nowhere

33. They have no respect for modern conventions and do what they like. They are a law….
                ……………….. themselves.

(a) For (b) by (c) above (d) unto

34. The only problem with your cooking is that the more I eat, the more I want ………….  more.
(a) all (b) some (c) any (d) no

35. "You look very nice in that dress".  The most appropriate  response to this will be ……..
(a) Is it ? (b) Is it so ? (c) Do I ? (d) Thank you

36.  I would rather you …………………… a taxi.
(a) took (b) would take (c) take (d) had better take

37. What time do you start work   or  more exactly, what time do you clock  ………. ?
(a) on (b) in (c) with (d) about

38. They are trying very hard to finish in time and they are working ……………… the clock.
(a) up (b) through (c) on (d) against

39. He is the sort of person who never  worries about anything and has a  happy …………disposition .
(a) Tempered (b) set up (c) type (d) go lucky

40. Please send a "note" to the members of the council. You should  …………………….. them of the date of the
next council meeting.  The ……………… should reach them this week.
(a) Notice, notice (b) notify, notary (c) notify, notice (d) notify, notification
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41. The candidate demanded to recount the votes.  The candidate demanded a …………… ( Fill up the gap by
changing the  underlined  infinitive  in to a Noun )
(a) Recounting (b) re-count (c) discounting (d) discount

42. Have you ever tried your  ………………. at running a business ?
(a) mind (b) head (c) hand (d) money

43. I have tried again and again but my computer still shows "error". I just can't ………… what's wrong .
(a) Bring out (b) check out (c) figure out (d) look

44. Combine the following pair of sentences :
The services are useful . The workers provide services.
(a) The services provided by the workers are useful.
(b) The workers who provide services are useful.
(c) The services which are useful are provided by  workers.
(d) The services which the workers provide are useful.

45. ………………………………… are leaving for Mumbai tomorrow.
(a) They, we and you (b) You, we and they (c) We, they and you (d) We, you and they

46. Mention the part containing an error :
Sometimes the ministers behave                 as if they are ministers             for all time.          No error

            (a) (b)  (c) (d)

47. The boy ………… his teacher   to explain the passage.
(a) told (b) asked (c) said (d) invited

48. His speech was nothing but  a string of platitudes.  The meaning of platitudes is …………
a) humorous anecdotes b) noble sentiments
c) grand statements d) instigation for violence

49. The attack on the freedom of the press is a retrograde  step. The antonym of retrograde is ...............
(a) Aggressive (b) progressive (c) punitive (d) stubborn

50. If we study by fits and starts  we can never be successful in our exams. The meaning of  "fits and starts" is
………………
(a) Unmindfully (b) without interest (c) irregularly (d) copying others
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General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. If A: every whole number is a natural number and R:0 is not a natural number, then which of
the following statements is true ?
^×V A: aEõã_ç YÉSï aeFîç+ Ø‘öç\öç×¾Eõ aeFîç c÷Ì̂  %ç»Ó R:0 Ø‘öç\öç×¾Eõ aeFîç Xc÷Ì̂ , åTöãÜ™ö Tö_» åEõçXä$Oôç =×Nþ aTöî ?
^×V A: aEõ_ YÉSï aeFîç Ø‘öç\öç×[ýEõ aeFîç A[ýe R : 0 Ø‘öç\öç×[ýEõ aeFîç XÌ̂ , Töã[ý XÝä»JôÌ[ý åEõçX×»Oô =×Nþ aTöî ?
(a) A is false and R is the correct explanation of A

A %aTöî %ç»Ó R éc÷ä$K÷ A » YÒEÊõTö ×[ý¾»S / A %aTöî A[ýe R c÷_ A AÌ[ý YÒEÊõTö ×[ý[ýÌ[ýS
(b) A is true and R is the correct explanation of A

A aTöî %ç»Ó R éc÷ä$K÷ A » YÒEÊõTö ×[ý¾»S / A aTöî A[ýe R c÷_ A AÌ[ý YÒEÊõTö ×[ý[ýÌ[ýS
(c) A is true and R is false

A aTöî %ç»Ó R %aTöî / A aTöî A[ýe R %aTöî
(d) Both A and R are true

A %ç»Ó R =\öÌ̂  aTöî / A A[ýe R VÇ×»Oô+ aTöî

52. The number    x y x y  where , 0x y   is ..............

   x y x y  aeFîçä$Oôç, ̂ Tö , 0x y   ............................

   x y x y   aeFîç×»OôãTö , 0x y   c÷_ ............................

(a) rational (b) irrational (c) both (d) None
Y×»ã]Ì^ %Y×»ã]Ì̂ =\öÌ^ A$OôçC Xc÷Ì̂
Y×Ì[ýã]Ì̂ %Y×Ì[ýã]Ì̂ VÇ×»Oô+ AEõ×»OôC XÌ̂

53.
1 1 1 1 1 1 1 1 ..............

1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9
       

       

(a) 0 (b) 1 (c) 2 (d) 4

54. 2 2 2 4

1 1 2 ...................
1 1 1

x
x x x x x x

  
     

(a) 2 4

1
1 x x 

(b) 2

1
1 x x 

(c) 2

2 3
1

x
x x


 
(d) None of these

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂
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55. The reciprocal of 53
2x

 


 is .................
53

2x
 


 » %ãXîç~Eõ .............................................

53
2x

 


 AÌ[ý %ãXîç~Eõ ........................................

(a) 1 2
3 5

x 
  (b) 23

5
x 

  (c) 2
11 3

x
x




(d) 53
2x




56. If ( 1x )is a factor of 1 2
0 1 2( ) . . . ............... 0,n n n

nf x a x a x a x a        then ............
( 1x )^×V 1 2

0 1 2( ) . . . ............... 0,n n n
nf x a x a x a x a        » A$Oôç =dYçVEõ c÷Ì̂ , åTöãÜ™ö .........................

( 1x )^×V 1 2
0 1 2( ) . . . ............... 0,n n n

nf x a x a x a x a        AÌ[ý AEõ×»Oô =dYçVEõ c÷Ì̂  Töã[ .......................

(a) 0 1 2 ........ na a a a o     0 (b) 0 2 4 ........a a a o   0
(c) 1 3 5 ........a a a o    0 (d) 0 2 4 1 3 5........ ........a a a a a a      

57. For what values of p and q will the equations 2 3 7,( ) ( ) (3 2)x y p q x p q y p q       
represent coincident lines ?
p %ç»Ó q » ×Eõ ]çX» [ýçã[ý 2 3 7,( ) ( ) (3 2)x y p q x p q y p q         a]ÝEõ»ãS a]ã»FÝÌ^ å»Fç [ýÇLç[ý ?

p  A[ýe q  AÌ[ý ×Eõ ]çãXÌ[ý LXî 2 3 7,( ) ( ) (3 2)x y p q x p q y p q         a]ÝEõÌ[ýS×»Oô a]ãÌ[ýFÝÌ̂  åÌ[ýFç
[ýÇMõçã[ý ?
(a) 5, 1p q   (d) 5, 1p q  (c) 5, 1p q    (d) 5, 1p q  

58. A train crosses 210m and 122m long bridges in 25 and 17 seconds respectively. The length of
the train is .................
AFX å»_GçQÍöÝãÌ̂  210 ×]$Oôç» %ç»Ó 122 ×]$Oôç» V_e yÔã] 25 %ç»Ó 17 æ$K÷ãEõ‰øTö %×TöyÔ] Eõ×»[ý Yç×»ã_ å»_GçQÍöÝFX» éVHïî
c÷[ý ..........................................
AEõ×»Oô åÌ[ý_GçQÍöÝ 210 ×]»OôçÌ[ý A[ýe 122 ×]»OôçÌ[ý åaTÇö %×TöyÔ] Eõ×Ì[ýãTö ̂ UçyÔã] 25 A[ýe 17 åaãEõ³Qö _ç×Gã_ åÌ[ý_GçQÍöÝÌ[ý éVHïî
c÷ã[ý .......................
(a) 11m (×]$f) (b) 65m (×]$f) (c) 332m (×]$f) (d) 88m (×]$f)

59. In the equation
( 1) ( 1)
( 1)( 1)

x x m x
x m m
  


  , the roots are equal when .....................

( 1) ( 1)
( 1)( 1)

x x m x
x m m
  


   a]ÝEõ»S» ]É_ åEõ+$Oôç a]çX c÷[ý, å^×TöÌ̂ ç .......................... c÷[ý

( 1) ( 1)
( 1)( 1)

x x m x
x m m
  


   a]ÝEõÌ[ýãXÌ[ý ]É_ EõãÌ̂ Eõ×»Oô a]çX c÷ã[ý ^×V ........................ c÷Ì̂

(a) 1
2

m  (b) 1
2

m   (c) 0m  (d) 1m 
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60. Two numbers whose sum is 6 and the absolute value of whose difference is 8 are the roots of
the equation .......................
VÇ$Oôç aeFîç» å^çGZõ_ 6 %ç»Ó YçUïEõî» Y»] ]çX 8, c÷ã_ aeFîç åEõ+$Oôç ............................. a]ÝEõ»S» ]É_ c÷[ý*
VÇ×»Oô aeFîçÌ[ý å^çGZõ_ 6 A[ýe YçUïãEõîÌ[ý YÌ[ý] ]çX 8 c÷ã_ aeFîçm×_ ........................ a]ÝEõÌ[ýãSÌ[ý ]É_ c÷ã[ý*
(a) 2 6 7 0x x   (b) 2 6 7 0x x   (c) 2 6 8 0x x   (d) none of these

AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
61. The sum to ' 'n  terms of 1, 8, 27, 64 ...., ....., ...... is ..................

1, 8, 27, 64 ...., ....., ...... » 'n' Tö] YVê_ å^çGZõ_ .....................................*
1, 8, 27, 64 ...., ....., ...... AÌ[ý 'n' Y ï̂Ü™ö YãVÌ[ý å^çGZõ_ .........................*

(a)
2 2( 1)

2
n n (b) ( 1)

2
n n (c)

2 2( 1)
4

n n (d)
2( 1)

4
n n  

 
 

62. The sum of all integers between 50 and 350 which end in 1 is ...................
50 %ç»Ó 350 » ]çL» %ç$Oôç+ åEõ+$Oôç %F‰ø aeFîç ^ç» %×Ü™ö] %eEõ 1 Töç» å^çGZõ_ .........................
50 A[ýe 350 AÌ[ý ]ãWýîÌ[ý a[ýEõÌ̂ ×»Oô %F‰ø aeFîçÌ[ý å^çGZõ_ ^çÌ[ý %×Ü™ö] ]çX 1 ........................
(a) 5880 (b) 4877 (c) 5539 (d) None of these

A»OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂

63. In the figure QPS=300, R is right angled and PR:PQ=RS:QS, then Q=...............
×$JôyTö QPS=300, R A$Oôç a]ãEõçS %ç»Ó PR:PQ=RS:QS c÷Ì̂ , åTöãÜ™ö Q=...............
^×V ×»Jôäy QPS=300, R AEõ×»Oô a]ãEõçS A[ýe PR:PQ=RS:QS c÷Ì̂ , Töã[ý Q=...............

R

S

Q

p

(a) 600 (b) 300 (c) 150 (d) None
A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

64. If 2 27sin 3cos 4   then sec cos ...........ec  
^×V 2 27sin 3cos 4    c÷Ì̂ , åTöãÜ™ö sec cos ...........ec  
^×V 2 27sin 3cos 4    c÷Ì̂ , Töã[ý sec cos ...........ec  

(a)
2 2
3
 (b)

2 2
3
 (c)

2
3 (d) None of these

A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
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65. If cos sin 2 cos    then cos sin ...........  

^×V cos sin 2 cos     c÷Ì̂ , åTöãÜ™ö cos sin ...........  

^×V cos sin 2 cos     c÷Ì̂ , Töã[ý cos sin ...........  

(a) 2 tan (b) 2 sin (c) 2
cos sin 

(d) none of these

A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

66. An aeroplane at an altitude of 300m observes the angles of depression of opposite points on
the two banks of a river to be 450 and 600. The width of the river is .......................
300 ×]$Oôç» =$Jô¬TöçTö UEõç AFX =»çLçc÷çL» Y»ç éX AFX» VÇ+ Yç»» VÇ$Oôç ×[ý³VÇ» YTöX åEõçS yÔã] 450 %ç»Ó 600 åYç¾ç
G_* éXFX» YÒØšö éc÷ä$K÷ .............................
300 ×]f =¬JôTöçÌ̂  UçEõç AEõ×»Oô AãÌ[ýçäYÀX åUãEõ XVÝÌ[ý VÇ+YçãÌ[ýÌ[ý VÇ×»Oô ×[ý³VÇÌ[ý YTöX åEõçX yÔã] 450 A[ýe 600 YçCÌ̂ ç ^çÌ̂ *
XVÝ×»OôÌ[ý YÒØšö c÷_ ......................
(a) (300 100 3) m(×]$) (b) (300 100 3) m(×]$) (c) (300 3 100) m(×]$) (d) (300 3 100) m (×]$)

67. In rhombus 2 2 2 2, .............ABCD AB BC CD DA   

ABCD  »¶‘öç$Jô» 2 2 2 2 .............AB BC CD DA   

ABCD  Ì[ý¶‘öçãaÌ[ý 2 2 2 2 .............AB BC CD DA   

D

CA

B

O

(a) 2 2OA OB (b) 2 2OB OC (c) 2 2OC OD        (d) 2 2AC BD

68. The radius of a bicycle wheel is 14cm. How far would the wheel have moved after making 50
complete rotations ?
AFX $Jôç+ãEõ_» $JôEõç» [ýîçaçWýï 14 æ$K÷.×]., $JôEõçFX 50 [ýç» HÉ×»ã_ ]ÇPöãTö ×Eõ]çX VÉ»±¼ö %×TöyÔ] Eõ×»[ý ?
AEõ×»Oô aç+ãEõã_Ì[ý »JôçEõçÌ[ý [ýîçaçWýï 14 åa. ×].* »JôçEõç×»Oô 50 [ýçÌ[ý HÇ×Ì[ýã_ å]ç»Oô EõTö»OÇôEÇõ VÉÌ[ý±¼ö %×TöyÔ] Eõ×Ì[ýã[ý ?
(a) 88 cm (æ$K÷.×]./åa.×].) (b) 2000cm (æ$K÷.×]./åa.×].)
(c) 440 cm (æ$K÷.×]./åa.×].) (d) 4400 cm (æ$K÷.×]./åa.×].)
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69. The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel to the base.

If its volume is 1
27

th the volume of cone, The height at which the section is made is ...........
A$Oôç `eEÇõ» =¬JôTöç 30 æ$K÷.×].* A+ `eEÇõ»ä$Oôç» CY»» Y»ç \Éö×]» a]çÜ™ö»ç_êEõ A$Oôç a»Ó `eEÇõ Eõç×$Oô =×_C¾ç c÷_* ^×V

+Ì̂ ç» %çÌ̂ TöX `eEÇõä$Oôç» %çÌ̂ TöX» 
1

27  mS c÷Ì̂ , åTöãÜ™ö ............................... =¬JôTöçTö `eEÇõä$Oôç EõOôç éc÷ä$K÷*

AEõ×»Oô `eEÇõÌ[ý =¬JôTöç 30 åaf ×]f* A+ `eEÇõ×»OôÌ[ý =YãÌ[ýÌ[ý åUãEõ \Éö×]Ì[ý a]çÜ™öÌ[ýçã_ AEõ×»Oô æ»K÷ç»Oô `eEÇõ åEõä»Oô [ýç×c÷Ì[ý EõÌ[ýç c÷_*

^×V +c÷çÌ[ý %çÌ̂ TöX `eEÇõ×»OôÌ[ý %çÌ̂ TöãXÌ[ý 
1

27  mX c÷Ì̂ , Töã[ý ................. =¬JôTöçÌ̂  `eEÇõ×»Oô »OÇôEõÌ[ýç EõÌ[ýç c÷Ì̂ *

(a) 10 cm (æ$K÷.×]./åa.×].) (b) 15 cm (æ$K÷.×]./åa.×].)
(c) 20 cm (æ$K÷.×]./åa.×].) (d) None / A$OôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

70. The chance that a non-leap year contains 53 Saturdays is ............
%×Wý[ýbï åXçãc÷ç¾ç [ý$K÷» A$OôçTö 53 $Oôç `×X[ýç» UEõç» aÞöç¾×XÌ̂ Töç ................................
%×Wý[ýbï XçUçEõç AEõ×»Oô [ý»K÷ãÌ[ý 53 »Oôç `×X[ýçÌ[ý UçEõçÌ[ý aÞöç[ýXç .......................

(a) 2
7 (b) 1

7 (c) 2
365 (d) 1

365

71. If D(3, -1), E(2, 6) and F(-5, 7) are the midpoints of the sides of ABC, then the area of the
triangle is ....................
^×V D(3, -1), E(2, 6) %ç»Ó F(-5, 7) ×[ý³VÇ åEõ+$Oôç ABC » ]Wýî ×[ý³VÇ c÷Ì̂ , åTöãÜ™ö ×Åy\ÉöLä$Oôç» Eõç×_ ..........................
^×V D(3, -1), E(2, 6) A[ýe F(-5, 7) ×[ý³VÇ EõÌ̂ ×»Oô ABC AÌ[ý ]Wýî ×[ý³VÇ c÷Ì̂ , Töã[ý ×Åy\ÇöL×»OôÌ[ý Eõç×_ .....................
(a) 96 sq units (b) 24 sq units (c) 48 sq units (d) None of these

96 [ýGï AEõEõ 24 [ýGï AEõEõ 48 [ýGï AEõEõ A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

72. In a histogram .........................
Ø™öÞö ã_FTö ................................
Ø™öÞö å_ãF ..................................
(a) the width of all rectangles are equal

aEõã_ç %çÌ̂ Töãlùy» YÒØšö a]çX / aEõ_ %çÌ̂ TöãlùäyÌ[ý YÒØšö a]çX
(b) the length of all rectangles are equal

aEõã_ç %çÌ̂ Töãlùy» éVHïî a]çX / aEõ_ %çÌ̂ TöãlùäyÌ[ý éVHïî a]çX
(c) the length and width of all rectangles are equal

aEõã_ç %çÌ̂ Töãlùy» éVHïî %ç»Ó YÒØšö a]çX / aEõ_ %çÌ̂ TöãlùäyÌ[ý éVHïî A[ýe YÒØšö a]çX
(d) the length and width of each rectangles are in proportion

YÒ×Töä$Oôç %çÌ̂ Töãlùy» éVHïî %ç»Ó YÒØšö a] %XÇYçTöTö UçãEõ / aEõ_ %çÌ̂ TöãlùäyÌ[ý éVHïî A[ýe YÒØšö a]çXÇYç×TöEõ
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73. Two numbers are chosen from 1 to 5. The probability for the two numbers to be consecutive
is ......................
1 » Y»ç 5é_ VÇ$Oôç aeFîç ã_ç¾ç éc÷ä$K÷* aeFîç VÇ$Oôç yÔ×]Eõ åc÷ç¾ç» aÞöç¾×XÌ̂ Töç ...............................*
1 åUãEõ 5 Y ï̂Ü™ö aeFîçm×_ åUãEõ VÇ×»Oô aeFîç åXCÌ̂ ç c÷_* aeFîç VÇ×»Oô yÔ×]Eõ c÷CÌ̂ çÌ[ý aÞöç[ýXç ....................*

(a) 1
5 (b) 2

5 (c) 1
10 (d) None

A$OôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

74. Which of the following expressions is a polynomial ?
Tö_» åEõçXä$Oôç [ý§YV »ç×` ?
XÝä»JôÌ[ý åEõçX×»Oô [ý§YV Ì[ýç×` ?

(a) 23 2 7x x  (b)
2 5 6

3
x x

x
 


(c)
3 2 1)
2 5

x x
x
 


(d) None of these

A»OôçC Xc÷Ì̂  /AEõ×»OôC XÌ̂

75. The LCM of two numbers is 630 and their HCF is 9. If the sum of the numbers is 153, their
difference is .........................
VÇ$Oôç aeFîç» _.aç.m 630 %ç»Ó G.aç.m 9* ^×V aeFîç åEõ+$Oôç» å^çGZõ_ 153 c÷Ì̂ , åTöãÜ™ö aeFîç VÇ$Oôç» YçUïEõî ............................
VÇ×»Oô aeFîçÌ[ý _f açf mf 630 A[ýe Gf açf mf 9* ̂ ×V aeFîç VÇ×»OôÌ[ý å^çGZõ_ 153 c÷Ì̂ , Töã[ý aeFîç VÇ+×»OôÌ[ý YçUïEõî c÷ã[ý ..................
(a) 63 (b) 27 (c) 81 (d) 18

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. Signals of danger are made in red because ........................
×[ýYV» aeãEõTö a]Éc÷ »Iøç »Iø» c÷Ì̂ , Eõç»S .......................................
×[ýYãVÌ[ý aeãEõTö a]Éc÷ _ç_ Ì[ýãIøÌ[ý c÷Ì̂  EõçÌ[ýS ...........................
(a) scattering is minimum for red colour

»Iøç »Iø» ×[ý¬KÇ÷»S Eõ] c÷Ì̂  / _ç_ Ì[ýãIøÌ[ý ×[ý¬KÇ÷Ì[ýS Eõ] c÷Ì̂
(b) scattering is maximum for red colour

»Iøç »Iø» ×[ý¬KÇ÷»S a[ýïç×WýEõ c÷Ì̂  / _ç_ Ì[ýãIøÌ[ý ×[ý¬KÇ÷Ì[ýS a[ýïç×WýEõ c÷Ì̂
(c) our eye is most sensitive to red colour

%ç]ç» $JôEÇõ »Iøç »Iø» YÒ×Tö aeã[ýVX`Ý_ / %ç]çãVÌ[ý æ»JôçF _ç_ Ì[ýãIøÌ[ý YÒ×Tö aeã[ýVX`Ý_
(d) red colour is internationally accepted symbol for danger.

»Iøç »IøEõ %çÜ™öLÛç×TöEõ [ýçã[ý ×[ýYV» aeãEõTö ×c÷$JôçãY GÐc÷S Eõ»ç éc÷ä$K÷
_ç_ Ì[ýIøãEõ %çÜ™öLÛç×TöEõ ×[ýYãVÌ[ý aeãEõTö ×c÷açã[ý GÐc÷S EõÌ[ýç c÷+Ì̂ çä»K÷
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77. The image formed by a convex mirror of focal length 30 cm is a quarter of the size of the object.
The distance of the object from the mirror is ...................
30 æ$K÷f ×]f ZõEõç$Jô éVHïî» =wø_ VçãYçS AFãX _lùî [ýºwø» AEõ $JôTÇöUïçe` %çEõç»» YÒ×Tö×[ý¶‘ö GPöX Eõ×»ã_, VçãYçX» Y»ç _lùî
[ýØ™Çö» VÇ»±¼ö c÷[ý ...............
30 åa.×]. ZõEõça éVãHïîÌ[ý AEõ×»Oô =wø_ VYïãX _lùî [ýØ™ÇöÌ[ý AEõ »JôTÇöUïçe` %çEõçãÌ[ýÌ[ý YÒ×Tö×[ý¶‘ö GPöX EõÌ[ýã_, VYïX åUãEõ _lù [ýØ™ÇöÌ[ý
VÉÌ[ý±¼ö .........................
(a) 60 cm (b) 120 cm (c) 90cm (d) None of these

60 æ$K÷.×]. / åa.×]. 120 æ$K÷.×]. / åa.×]. 90 æ$K÷.×]. / åa.×]. A$OôçC Xc÷Ì̂

78. Two lenses are placed in contact with each other and the focal length of combination is 8 cm.
If the focal length of one is 20cm, then the power of the other will be ...............
VÇFX å_XË$K÷ Y»&» C$Jô»ç-C$Jô×»êEõ »ç×Fã_ a]TÇö_î ZõEõç$Jô éVHïî 8 æ$K÷f ×]f c÷Ì̂ * ^×V AFX» ZõEõç$Jô éVHïî 20 æ$K÷f ×]f c÷Ì̂ ,
åTöãÜ™ö %çXä$Oôç å_XË$K÷» lù]Töç c÷[ý .....................*
VÇ+×»Oô å_XaãEõ Yç`çYç×` Ì[ýçFç c÷+_ A[ýe a]TÇö_î ZõEõçã»aÌ[ý éVHïî 8 åa.×].* ^×V AEõ×»Oô ZõEõçãaÌ[ý éVHïî 20 åa.×]. c÷Ì̂  Töã[ý
%YÌ[ý å_Xa×»OôÌ[ý lù]Töç c÷ã[ý .............................*
(a) -3.75D (b) -1.00D (c) 4.00D (d) None of these

A$OôçC Xc÷Ì̂ /AEõ×»OôC XÌ̂

79. The current i in the circuit is ................
[ýwïøSÝä$OôçTö YÒ¾çc÷ i » ]çX ...................... / [ýTöÛXÝ×»OôãTö YÒ[ýçc÷ i AÌ[ý ]çX ......................

(a) 1
45

A (b) 1
15

A (c) 1
10

A (d) 1
30

A

80. Which of the following statements is correct ?
Tö_» åEõçXãEõç+$Oôç =×Nþ aTöî ? / XÝä»JôÌ[ý åEõçX×»Oô aTöî ?
(i) The product of volt and coulomb is joule

\ö·Oô %ç»Ó EÇõ_¶‘ö» YÇ»SZõ_ éc÷ä$K÷ LÇ_ / \ö·Oô A[ýe EÇõ_ã¶‘öÌ[ý YÉÌ[ýSZõ_ c÷_ LÇ_
(ii) The product of volt and watt is horse power

\ö·Oô %ç»Ó ¾ç$Oô» YÇ»SZõ_ éc÷ä$K÷ %`Ÿ lù]Töç / \ö·Oô A[ýe CÌ̂ çä»OôÌ[ý YÉÌ[ýSZõ_ c÷_ %`Ÿ lù]Töç
(iii) The product of volt and ampere is joule/sec

\ö·Oô %ç»Ó A×¶YÌ̂ ç»» YÇ»SZõ_ éc÷ä$K÷ LÇ_/ä$K÷ãEõ‰ø / \ö·Oô A[ýe A×¶YÌ̂ çãÌ[ýÌ[ý YÉÌ[ýSZõ_ c÷_ LÇ_/åaãEõ‰ø
(iv) Watt-hour can be meassured in terms of electron volt.

¾ç$Oô-H³OôçEõ +ã_kỗS \ö·Oô ×c÷$JôçãY YÒEõç` Eõ×»[ý Yç×» / CÌ̂ ç»Oô-H³OôçãEõ \ö·Oô ×c÷açã[ý YÒEõç` Eõ×Ì[ýãTö Yç×Ì[ý*
(a) All are correct  (b) i & ii are correct     (c) i, iii, and iv are correct (d) ii and iv are correct

%ç$Oôç+ãEõ+$Oôç £ˆù i %ç»Ó ii £ˆù i, iii %ç»Ó iv £ˆù ii %ç»Ó iv £ˆù
a[ýEõÌ̂ ×»Oô £ˆù i A[ýe ii £ˆù i, iii A[ýe iv £ˆ ii A[ýe iv £ˆ

+
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81. Which of the following works on the principle of electro magnetic induction ?
Tö_» åEõçXä$Oôç» Eõç ï̂îYÒSç_Ý ×[ýVÇîd JÇô¶‘öEõÝÌ̂  %çã¾`» CY»Tö YÒ×Tö×œöTö ?
XÝä»JôÌ[ý åEõçX×»OôÌ[ý Eõç ï̂îYÒSç_Ý ×[ýVÇîd »JÇô¶‘öEõÝÌ̂  %çã[ý` XÝ×TöÌ[ý =YÌ[ý Eõç ï̂î a¶YçVX EõãÌ[ý ?
(a) Ammeter (b) Voltmeter (b) Transformer (d) Galvanometer

A×]$Oôç» \ö·Oô×]$Oôç» ®Ïôç³aZõ]ïç» Gç_ã\öãXç×]$Oôç»
A×]»OôçÌ[ý \ö·Oô×]»OôçÌ[ý ®Ïôç³aZõ]ïçÌ[ý Gç_ã\öãXç×]»OôçÌ[ý

82. In many racing cars ........................ is used as fuel instead of petrol.
G×Töã[ýG YÒ×Töã^çGÝTöç» [ý§ãTöç ]$Oô» GçQÍöÝTö åY®Ïô_» Y×»[ýãTöÛ ..................Eõ +µùX ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
%ãXEõ G×Töã[ýG YÒ×Töã^ç×GTöçÌ̂  ]»OôÌ[ý GçQÍöÝãTö åY®Ïôã_Ì[ý Y×Ì[ý[ýãTöÛ ...........................åEõ [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(a) ethanol (b) hydrogen (c) nitrogen (d) None of these

+UçX_ c÷ç+QÎöãLX Xç+®ÏôãLX A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

83. Which of the statements given below for the reaction is correct ?
Tö_Tö ×VÌ̂ ç ×[ýyÔç» ålùyTö Tö_» åEõçXä$Oôç =×Nþ aTöî ?
XÝä»Jô åVCÌ̂ ç ×[ý×yÔÌ̂ çÌ[ý ålùäy åEõçX =×Nþ×»Oô aTöî ?

2ZnO CO Zn CO  

(a) ZnO  is being oxidised (b) CO  is being reduced
ZnO  Lç×»Tö éc÷ä$K÷ CO ×[ýLç×»Tö éc÷ä$K÷
ZnO  Lç×Ì[ýTö c÷+Ì̂ çä»K÷ CO  ×[ýLç×Ì[ýTö c÷+Ì̂ çä»K÷

(c) 2CO  is being oxidised (d) ZnO  is being reduced
2CO Lç×»Tö éc÷ä$K÷ ZnO  ×[ýLç×»Tö éc÷ä$K÷

2CO  Lç×Ì[ýTö c÷+Ì̂ çä»K÷ ZnO  ×[ýLç×Ì[ýTö c÷+Ì̂ çä»K÷

84. The base which do not contain metal is ..............
WýçTÇö XUEõç lùç» ×[ýWý éc÷ä$K÷ ..................................
WýçTÇö XçUçEõç lùçÌ[ý c÷_ .......................
(a) ammonium hydroxide (b) caustic soda

A]×XÌ̂ ç] c÷ç+QÎö%jç+Qö Eõ×rôEõ $Jô'Qöç / åaçQöç
(c) caustic pattern (d) dolomite

Eõ×rôEõ åY$OôçSï Qö_]ç+$Oô

85. The metal obtained by self reduction process is .................
Ø‘ö×[ýLç»S YÒ×yÔÌ̂ ç» ¥ç»ç %çc÷»S Eõ»ç WýçTÇö×[ýWý ...............................
Ø‘ö×[ýLçÌ[ýS YÒ×yÔÌ̂ çÌ[ý ¥çÌ[ýç %çc÷Ì[ýS EõÌ[ýç WýçTÇö×[ýWý ...........................
(a) Cu (b) Zn (c) Fe (d) Ag

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(17)

86. Complete the following equation
Tö_Tö ×VÌ̂ ç a×]Eõ»Sä$Oôç a¶YÉSï Eõ»ç*
XÝä»Jô åVCÌ̂ ç a]ÝEõÌ[ýS×»Oô a¶YÉSï EõÌ[ý*

2 2 2 2 22     ....................Cu FeS O Cu S SO   

(a) 2Cu O (b) FeO (b) 2FeS (c) 2 3Fe O

87. The general formula of carboxylic acid is .......................
Eõç[ýï%×j×_Eõ A×$JôQö» açWýç»S aeãEõTö c÷_ .........................................
Eõç[ýï%×j×_Eõ A×aãQöÌ[ý açWýçÌ[ýS aeãEõTö c÷_ .........................
(a) CnH2+1OH (b) CnH2nO (c) CnH2nO2 (d) CnH2n+2

88. The alcohol obtained by the alkaline hydrolysis of oil or fat is ....................
åTö_ %ç»Ó Jô[ýÞ» lùç»EõÝÌ̂  L_ÝÌ̂ Eõ»S» ¥ç»ç .......................... =dY~ c÷Ì̂ *
åTö_ A[ýe »Jô×[ýïÌ[ý lùçÌ[ýEõÝÌ̂  L_ÝÌ̂ EõÌ[ýãSÌ[ý ¥çÌ[ýç ........................... =dY~ c÷Ì̂ *
(a) glycerol (b) glycol (c) methanol (d) ethanol

GÀç+$Jôç»_ / GÀç+açÌ[ý_ GÀç+Eõ_ ×]UçX_ +UçX_

89. The longest period in periodic table is ...................
Y ï̂îç[ýÊwø Töç×_Eõç» %ç$Oôç+TöêEõ QöçIø» Y ï̂îçÌ̂ ä$Oôç ........................
Y ï̂îç[ýÊwø Töç×_EõçÌ[ý a[ý»Jôç+ãTö [ýQÍö Y ï̂çÌ̂ ×»Oô .................................
(a) 1 (b) 5 (c) 7 (d) 6

90. Cholesterol is present in .......................
............................... Tö Eõã_rÑô'_ UçãEõ*
.................................. A Eõã_rÑô_ UçãEõ*
(a) gastric juice (b) bile-pancreatic juice (c)  bile (d) pancreatic juice

YçEõØšö_Ý »a ×Ywø»a-%GÂç`Ì̂  »a      ×Ywø»a %GÂç`Ì̂  »a
YçEõØšö_Ý Ì[ýa ×YwøÌ[ýa-%GÂç`Ì̂  Ì[ýa      ×YwøÌ[ýa %GÂç`Ì̂  Ì[ýa

91. The chief inorganic substance present in the urine is ..................
]ÉyTö UEõç ]ÉFî %êL×¾Eõ YVçUï×[ýWý éc÷ä$K÷ ..................................*
]Éäy UçEõç ]ÇFî %êL×[ýEõ YVçUï×»Oô c÷_ .................................*
(a) sodium chloride (b) potassium (c) calcium (d) magnesium

Jô×QöÌ̂ ç] zõ'»ç+Qö YOôç×K÷Ì̂ ç] åEõ_×K÷Ì̂ ç] å]GãX×K÷Ì̂ ç]
a×QöÌ̂ ç] zõ'Ì[ýç+Qö Y»Oôç×aÌ̂ ç] åEõ_×aÌ^ç] å]GãX×aÌ̂ ç]

92. The function of haemoglobin is to carry .........................
×c÷]GÀ×[ýX» Eõç] éc÷ä$K÷ ..................... Eõ×$RÍôÌ̂ ç+ ×XÌ̂ ç
×c÷]GÀ×[ýãXÌ[ý EõçL c÷_ ................................. [ýc÷X EõÌ[ýç*
(a) O

2
(b) CO

2
(c) both O

2
 & CO

2
(d) CO
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93. Auxins do not increase ......................
%×jãX ................................. [ýÊ×ˆù XEõä»*
%×jãX .............................. [ýÊ×ˆù EõãÌ[ý Xç*
(a) the elasticity of cell walls (b) the rate of photosynthesis

åEõçbã[ý»» ×Øšö×TöØšöçYEõTöç açã_çEõ aeä`ÀbS» c÷ç»
åEõçbã[ýãÌ[ýÌ[ý ×Øšö×TöØšöçYEõTöç açã_çEõ aeä`ÀbãSÌ[ý c÷çÌ[ý

(c) the uptake of water by cells (d) rate of respiration
åEõçb» YçXÝ GÐc÷S Eõ»ç lù]Töç `ŸaX» c÷ç»
åEõçãbÌ[ý L_ GÐc÷S EõÌ[ýç lù]Töç `ŸaãXÌ[ý c÷çÌ[ý

94. A sound wave has a frequency of 1000 Hz and wave lenght of 34 cm. How long will it take
to travel 1 Km ?
A$Oôç ̀ Œ Tö»eG» Eõ¶YXçeEõ 1000 c÷ç$OôÛL %ç»Ó Tö»eG éVHïî 34 æ$K÷.×]. c÷ã_ Tö»eGä$Oôçã¾ 1 ×Eõ. ×]$Oôç» VÉ»±¼ö %×TöyÔ] Eõã»çãTö
×Eõ]çX a]Ì̂  _ç×G[ý ?
AEõ×»Oô `Œ TöÌ[ýã†Ì[ý Eõ¶YXçeEõ 1000 c÷ç»OôÛL A[ýe TöÌ[ýe† éVHïî 34 åa.×]. c÷ã_ TöÌ[ýeG×»Oô 1 ×Eõ.×]. VÉÌ[ý±¼ö %×TöyÔ] EõÌ[ýãTö
EõTö»OÇôEÇõ a]Ì̂  _çGã[ý ?
(a) 3.20 sec (b) 2.94 sec (c) 5.94 sec (d) 3.10 sec

3.20 æ$K÷ãEõ‰ø/åaãEõ‰ø 2.94 æ$K÷ãEõ‰ø/åaãEõ‰ø 5.94 æ$K÷ãEõ‰ø/åaãEõ‰ø 3.10 æ$K÷ãEõ‰ø/åaãEõ‰ø

95. A simple pendulum is transferred from the earth to the moon. It will ....................
AQöç_ a»_ åVç_Eõ YÊ×U¾Ý» Y»ç $Jô³VÐê_ ×Xã_ + ..................................
AEõ×»Oô aÌ[ý_ åVç_Eõ YÊ×U[ýÝ åUãEõ »Jôä³VÐ ×Xã_ +c÷ç ...............................
(a) slow down (b) become faster (c) remain the same (d) None of these

å_ãc÷]ÝÌ̂ ç c÷[ý F»TöEõÝÌ̂ ç c÷[ý AãEõ Uç×Eõ[ý A$OôçC Xc÷Ì̂
WýÝãÌ[ý »Jô_ã[ý VÐÓTö »Jô_ã[ý AEõ+ UçEõã[ý AEõ×»OôC XÌ̂

96. Carbon monoxide is a pollutant because it ......................
Eõç[ýïX ]X%jç+Qö A×[ýWý YÒVÉbEõ Eõç»S + .....................................
Eõç[ýïX ]ãXçjç+Qö AEõYÒEõçÌ[ý YÒVÉbEõ EõçÌ[ýS +c÷ç .......................
(a) combines with oxygen (b) combines with haemogolobin

%×jãLX» _GTö aeã^ç×LTö c÷Ì̂ ×c÷]'GÀ×[ýX» _GTö aeã^ç×LTö c÷Ì̂
%×jãLãXÌ[ý açãU aeã^ç×LTö c÷Ì̂ ×c÷]äGÀç×[ýãXÌ[ý açãU aeã^ç×LTö c÷Ì̂

(c) inactivates nerves (d) None of these
ØoöçÌ̂ ÇEõ %Eõç×]_ç Eõã» AEõOôçC Xc÷Ì̂
ØoöçÌ̂ ÇãEõ ×X×›õ̃Ì̂  EõãÌ[ý AEõ×»OôC XÌ̂

97. Toxic substances in the diet are detoxicated in the human body by ...................
]çX¾ åVc÷» ............................ FçVîTö UEõç ×[ýbçNþ [ýØ™öã[ýç»Eõ %×[ýbçNþ Eõä»*
]çX[ý åVãc÷Ì[ý ........................... FçãVî UçEõç ×[ýbçNþ [ýØ™Çöm×_ãEõ %×[ýbçNþ EõãÌ[ý*
(a) liver (b) kidney (c) lungs (d) stomach

^EÊõdåÌ̂ [ýÊhõ+ c÷çCgZõçCgåÌ̂  /ZÇõaZÇõa YçEõØšö_ÝåÌ̂
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98. Thermoregulatory organ of the body is
`»Ý»» TöçY ×XÌ̂ Ü—öS Eõ»ç %eGä$Oôç éc÷ä$K÷ ...............................
`Ì[ýÝãÌ[ýÌ[ý TöçY ×XÌ̂ Ü—öS EõÌ[ýç %eG×»Oô c÷_ .............................
(a) pituitary gland (b) hypothalamus (c) skin (d) cilia

×Y$OÇô+$Oôç»Ý GÐ×Üšö c÷ç+Y'åU_ç]ç$K÷ $K÷ç_ EÇõ$OôYç$V
×Y»OÇô+»OôçÌ[ýÝ GÐ×Üšö c÷ç+YãU_ç]ça $ ±¼öEõ

99. Zinc Sulphate is commonly used as ...................
×LeEõ $K÷ç_ãZõ$OôEõ açWýç»SãTö ....................................................... ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
×LeEõ aç_ãZõ»OôãEõ açWýçÌ[ýSTö ............................................. ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(a) insecticide (b) fungicide (c) herbicide (d) None of these

EõÝ$OôXç`Eõ å\göEÇõ»Sç`Eõ/»K÷yçEõXç`Eõ TÊöSXç`Eõ A$OôçC Xc÷Ì̂  / AEõ×»OôC XÌ̂

100. Which of the following is a green house gas ?
Tö_» åEõçXä$Oôç GÐÝS c÷ç=$Jô åG$K÷ ?
XÝä»JôÌ[ý åEõçX×»Oô GÐÝS c÷ç=a Gîça ?
(a) sulphur dioxide (b) nitrogen dioxide (c) carbondioxide (d) carbon monoxide

$K÷ç_Zõç» Qöç+-%jç+Qö Xç+®ÏôãLX Qöç+-%jç+Qö Eõç[ýïX Qöç+-%jç+Qö Eõç[ýïX ]X-%jç+Qö
aç_ZõçÌ[ý Qöç+-%jç+Qö

XXXXXX
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